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Q. 1] Find the smallest perfect square number divisible by 24,48, 72 and 60. [5]

1] 24,48, 72 3T 60 AT ARG T 319 T SO TSI a1 Ul a1 € 3.

Rough work/F= FHH



Q.2] Using the divisors of 36, complete the magic square of [5]

multiplication, in which the product of all the numbers in 12

each row, column and diagonal is the same.
T.2] 36 AT fersITSiehi=I ST ] ORI ST <108 3761 ot
F T TS IWT AT ATSHT NS a8l T 36

&= TUTTER I FHT ST,

For rough work/s=<a1 ShHTE3] Answer/3t{
12 12
36 36
Rough work/F= FHH



Q.3] On decreasing the marked price of an article by 6%, the selling price of that article [5]
becomes Rs. 1551/-. Find the selling price of that article if the marked price is

decreased by 4%.
Y. 3] T A ST ThAA 6% 1 ST et AT ot SRt forshi fohAd 1551 TR 8.

ST foheTet 4711 T et o T STt fersht fofaret foret &1er?

Rough work/F= FHH



Q.4] Find the next two numbers in the following sequence:

T 4] (ool ST AR o Je e &I ST el
3 3 1 1 3 1
2 T 9 13 Z 2 5 Z 2 9 7 2 7? 2 5 T 2 2
Roughwork/m?ﬂq



Q.5] The figure shows a 1-centimetre square grid. [The
distance between two adjacent dots in each row and

columnis 1 cm] What is the area of the closed figure?

w. 5] Tocicam SeRdid | SHt HTAT SRETeRdT STt 3T, [T
TSN o SHIT TSIl e TTer=aT G ToigHefe et | Tt

o

3T TS TR &Thes e,

Rough work/F= FHH



Q.6] In the diagram, A PQR and A LMN are
equilateral triangles and ZQSM = 20°. What is

the value of x?

T 6] fociedm sed@ A PQR HTMT A LMN € &HYS
FrRiur3Rd. £ QSM =20°. T x =t fehue feret?

Rough work/F= FHH



Q.7]  Adding 126 to 8A9, the result is 9B5. If9B5 is divisible by 3, find the maximum [6]

value of A +B.
7] 8A9 AT 126 A1 EAT=H SISt 9BS Ad. SKIBS 1 3 YUI HIT STId SEA T A + B
EIRIERIGRICERREar
Rough work/F= FHH



Q.8] P,Q,R, S are four prime numbers. The product of first three numbers is 4199 [6]
and that of the last three numbers is 7429. What are the numbers?

T.8] P, Q,R, S &R Ye5 §EAT TR, AUsh! TieeT 19 G TOMHR 4199 372
HTIOT =T o G UM 7429 SATE. T AT ST HI0TcAT?

Rough work/F= FHH



Q.9] You are given 8 sticks of equal length. Show the arrangements of all those 8 [6]
sticks by joining their ends to form different types of quadrilaterals. Find the
areas of any two quadrilaterals of them, if the length of each stick is 15 cm..

T.9]  EHM e § FHISAT TR Gl ST, T S113 H1gaT 3T Hiel 3hl ci=i 2ok
15 Tt STHE L I TUhT SIVTCATEl S eI Shos I,

Rough work/F= FHH



Q.10] Using the digits 5, 6, 8 and 9 without repetition of any digit, write all possible [6]
2-digit numbers. Also, find one pair of them having all the digits 5, 6, 8, 9
which would give the greatest product.

T. 10] 5, 6, 8 AT 9 B 3ok Tedeh! UshaT= ATI& qaR SIUT=AT G 3ieht T EEAT foTeT,
TR 37T Tk AT Tt il Sa7 SEWe © 9RE! 37 Aadid I o1 ST

‘\!)UII°|')I{\TII{‘(‘I(\I<‘I ST 318,

Rough work/F= FHH
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Q.11] A mouse moves along a straight line as follows: during the 1" second, it moves 7 [6]
m. forward and during the 2" second, it moves 4 m. backward. The mouse
repeats the same for further pairs of seconds. Find how far it would be from the
starting point just at the 75"second.

T 1] Uk S ETes {9 TieedT Uehl Ushald 7 Hict e STl SAT10T gu=1 §ehald 4 Hiet 7T
Idl. 1 €N IS Tk I Hehad1d] M= Bererel YeaT el shidl. @
755 AL eI il SLHSTGUTE fohelt SHaTrer 3eer?

Rough work/F= FHH
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Q.12] In the diagram, Z/POX = ZQOX and ZQOY = PX QY f R 18]
£ZYO0Z=Z/ZO0R. If ZPOY =33° and £XOZ =45°,
then find the measure of ZPOR.

T, 12] feoiem stmkdid L POX = ZQOX 3T /QOY =
ZY0Z=/70R.SX LPOY = 33° M1 LXOZ =45°,

T /POR < HIT I,

Rough work/F= FHH
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Q.13] The denominators of six fractions are 19, 23, 62, 29, 123, and 35. Their [8]
numerators are integers from 1 to 6 respectively. Six more fractions have
denominators 140,41, 116,31, 92, 57 and their numerators are integers from 11

to 16 respectively. Find the sum ofall those 12 fractions.

. 13] ST SR B8 STTRA 19, 23, 62, 29, 123 STM0T 35 3T 3TTRd AT Aty 20
aﬂ%ﬁﬁﬁmaﬂ%a U HET YUIhi 8 STTHH 140, 41, 116,31, 92
aﬁﬂmﬁmﬁwﬁm&gﬁn%méwmﬁ.mmﬁw

Rough work/F= FHH

13-



Q.14] For Rs. 200 each, a florist sells two types of bouquets. One bouquet is made [8]
with 9 yellow roses and 7 red roses. Another one has 6 yellow roses and 13 red
roses. [f someone wishes to purchase a bouquet of equal number of yellow and
red roses, find the possible types of bouquets that would have the prices
between Rs. 50 and Rs. 100.

T 14] U GAATAT G T TS Tedehl 200 EaFiHT forshal, afeean qor=sd 9 fuses
TTATST STV 7 AT TeTel AT, o= Pl 6 fefes Tetel 0T 13 ATt Tetrsl
HTE. Tehl SThIcT TUeios SATIVT ATt TTeTel HHTH STHOTRT TSI TLal el
HTR. qLE. 50 A%, 100 Ff=T ST foha e fofiell Tohel o0 Tial T
cfie 2

Rough work/F= FHH

-14-



Q.15] Draw all possible isosceles triangles having one side of length 4 cm, and one of 8]
the three angles of measure 50°. Name the triangles. Also, measure and write

the lengths of remaining sides of each triangle. Find the perimeters of those

triangles.

T 15]  SATHATGS BrenTori= Uk o1e] 4 T, 3118 9 U i 50 HTIT=IT 3T, 374 IR BT
el IehI0T Sh1QT & AT ATel &1, Yedeh Frehiorr=a Steiedn srs{ed fisft @IS foter,

TUT e FAhIvTT=i ufifwet shrer.,

Rough work/F= FHH

-15-



Q.16] (A7BBC) s a 5-digit number divisible by 880. Find the values of A, B, C and [8]
write the number.
T. 16] (A7BBC) &I U YT Siehl TEIAT 880 7 319 9WT ST, @ A, B, C =1 fehut

FIeTadl G forar,

Rough work/F= FHH

-16-
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